
 [GeV]miss
T

p
300 400 500 600 700 800 900 1000

N
or

m
al

iz
ed

 d
is

tr
ib

ut
io

n

0

0.05

0.1

0.15

0.2

0.25
=2.5 TeV Vm

=1.5 TeV Vm

=1.0 TeV Vm

=0.5 TeV Vm

=2.5 TeV Vm

=1.5 TeV Vm

=1.0 TeV Vm

=0.5 TeV Vm

CMS Simulation

 (13 TeV)-136 fb

=1χ
V=0.25, g

q
V=1 GeV, gχm

 [GeV]miss
T

p
500 1000 1500 2000 2500

N
or

m
al

iz
ed

 d
is

tr
ib

ut
io

n

0

0.05

0.1

0.15

0.2

0.25

0.3

0.35 =4.1 TeV φm

=3.5 TeV φm

=2.9 TeV φm

=2.3 TeV φm

=4.1 TeV φm

=3.5 TeV φm

=2.9 TeV φm

=2.3 TeV φm

CMS Simulation

 (13 TeV)-136 fb

=0.2ψ=bψ=0.1, aq=bqa

=100 GeVψm


